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j d; b; j d; bj

[ | 23552 51 | -186.637 | 37.960
2 | -66.775 | 11251 || 52 | -182.940 | 38.058
3 |-117.027 | 41155 || 53 | -177.415 | 43.780
4 |-125815 | 45162 || 54 | -88.185 | 80.587
5 |-125404 | 70378 || 55 | -189.554 | 64.125
6 |-231417 | 77.149 || 56 | -357.927 | 2.575
7 |-184780 | 84.609 || 57 | -238.840 | 43.220
8 |-241779 | 89594 || 58 | -144.679 | 36.304
0 |-233926 | 70514 || 59 | -74.052 | 49.928
10 | -236.845 | 70344 || 60 | -235.196 | 3.200
11| -203.267 | 80.781 | 61 | -255.585 | 8.921
12 | -214.559 | 87.826 | 62 | -242.241 | 95.860
13 | -229.170 | 56.088 | 63 | -73.831 | 1.527
14 | -168.062 | 62439 | 64 | -184.103 | 0.559
15 | -234.675 | 44736 | 65 | -219.983 | 114.766
16 | -224.583 | 53.063 | 66 | -39.319 | 0.145
17 | -245.480 | 55.270 | 67 | -204.400 | 51.433
18 | -251.095 | 24.465 | 68 | -181.363 | 91.385
19 | -160.612 | 8983 | 69 | -203.575 | 21.643
20 | 228718 | 23391 || 70 | -363.328 | 9.826
21 | -19.848 | 6.540 1077 || 71 | -210.582 | 35.702
22 | -48915 | 3438 || 72| -231.190 | 17.674
23 | -368.936 | 29.466 | 73 | -99.648 | 49.210
24 | -86.202 | 15258 | 74 | -181.413 | 70.516
25 | -330.068 | 40.360 || 75 | -162.721 | 33.056




j d; bi | ] d; bj

26 | -102.753 | 42.134 || 76 | -149.955 | 22.459
27 | -281.951 | 47467 || 77 | -343.136 | 12.252
28 | -160.025 | 53.119 | 78 | -239.608 | 12.477
29 | -237.493 | 57418 | 79 | -158.245 | 10.825
30 | -197.959 | 50.263 || 80 | -215.123 | 3.412
31 | -224.476 | 32581 | 81 | -93.802 | 53.285
32 | -227.040 | 55214 | 82 | -43.036 | 2.768
33 | -196.498 | 60.676 | 83 | -218.511 | 61.454
34 | -210.601 | 22.953 | 84 | -226.331 | 88.378
35 | -240.639 | 24752 | 85 | -88.226 | 15.277
36 | -189.674 | 19577 | 86 | -372.476 | 5.618
37 | -208.568 | 41.002 || 87 | -286.518 | 0.325
38 | -190.688 | 4.649 | 88 | -133.341 | 54.0988
39 | -201.533 | 40467 | 89 | -264.016 | 26.465
40 | -19.531 | 4567 | 90 | -60.881 | 54.409
41 | -351.889 | 3.359 | 91 | -310.665 | 3.359
42 | -67.303 | 62.936 | 92 | -231.031 | 62.936
43 | -339.143 | 0.171 | 93 | -234.697 | 4.240
44 | -80.830 | 40.666 | 94 | -202.333 | 24.641
45 | -95.807 | 3.169 | 95 | -177.568 | 56.826
46 | -307.416 | 48.843 | 96 | -50.854 | 7.837
47 | -143.836 | 2.595 | 97 | -137.653 | 60.527
48 | -248.321 | 64.396 | 98 | -178.222 | 3.024
49 | -231.792 | 4.851 | 99 |-135.094 | 78.951
50 | -248.922 | 56.576 || 100 | -254.870 | 14.074




J A(S) J Ai(S) J Ai(S) J Ai(S)

T | -372.580 |[ 26 | -278.909 || 51 | -195.999 || 76 | -86.044
2 | -372.589 || 27 | -278.909 || 52 | -195.999 || 77 | -85.897
3 | -372.589 || 28 | -262.487 || 53 | -168.818 || 78 | -85.897
4 | -372.589 || 29 | -262.487 || 54 | -168.807 || 79 | -85.897
5 | -372.589 || 30 | -262.487 || 55 | -168.807 || 80 | -85.897
6 | -372.589 || 31 | -262.487 || 56 | -168.807 || 81 | -74.105
7 | -345.396 || 32 | -262.487 || 57 | -168.796 || 82 | -73.892
8 | -345.396 || 33 | -259.098 || 58 | -156.712 || 83 | -73.795
9 | -345.396 || 34 | -239.614 || 59 | -156.705 || 84 | -73.795
10 | -345.396 || 35 | -239.614 | 60 | -156.705 || 85 | -73.795
11 | -345.396 || 36 | -239.614 | 61 | -156.705 || 86 | -73.795
12 | -345.396 37 | -239.614 62 | -152.386 87 -49.329
13 | -318.204 || 38 | -235.294 || 63 | -152.385 || 88 | -46.603
14 | -318.204 39 | -235.294 64 | -152.385 &9 -46.603
15 | -318.204 || 40 | -235.294 || 65 | -152.385 || 90 | -46.603
16 | -318.204 41 | -235.294 66 | -129.712 91 -46.603
17 | -318.204 42 | -235.040 67 | -129.512 92 -46.603
18 | -306.102 || 43 | -223.193 || 68 | -129.512 || 93 | -23.552
19 | -306.102 44 | -223.192 69 | -129.512 94 -19.410
20 | -306.102 45 | -223.192 70 | -129.512 95 -19.410
21 | -306.102 46 | -223.192 71 | -113.106 96 -19.410
22 | -306.102 47 | -223.192 72 | -113.090 97 -19.410
23 | -278.909 || 48 | -196.012 || 73 | -113.090 || 98 | -19.410
24 | -278.909 || 49 | -196.000 || 74 | -113.090 || 99 | -19.410
25 | -278.909 || 50 | -195.999 || 75 | -113.090 || 100 | -16.192

A = A35(S) = A36(S) = Azp(S) =

= —239.614103055438
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Crnextp D Cnexrp D, Kparxocts (uncno map) | Yncno MCTHHHBIX ITap
+0.9984i 4 0
+1.4142i +1.4119i - 1
+1.9872i 4 0
+2.2361i 12.2239i 8 2
+2.8284i +2.8103; 4 I
+2.9568i 4 0
+3.1623i +3.1208i 8 2
+3.6056i +3.5625i 8 2
+3.8980i 4 0
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